
� No.364-10-1 �

No.364-10-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 11
12

− 5
18

= (2) 15
8
− 1

4
=

(3) 13
18

+ 7
12

= (4) 13
20

− 3
10

=

(5) 5
8

+ 11
20

= (6) 11
12

− 1
6

=

(7) 3
10

+ 2
5

= (8) 6
7
− 1

14
=

(9) 9
5
− 9

10
= (10) 7

15
+ 3

20
=

� 13th-note �



� No.364-10-1 �

No.364-10-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 11
12

− 5
18

=
23

36
(2) 15

8
− 1

4
=

13

8

(3) 13
18

+ 7
12

=
47

36
(4) 13

20
− 3

10
=

7

20

(5) 5
8

+ 11
20

=
47

40
(6) 11

12
− 1

6
=

3

4

(7) 3
10

+ 2
5

=
7

10
(8) 6

7
− 1

14
=

11

14

(9) 9
5
− 9

10
=

9

10
(10) 7

15
+ 3

20
=

37

60

� 13th-note �



� No.364-10-2 �

No.364-10-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 11
4

+ 9
8

= (2) 13
8

+ 1
16

=

(3) 17
18

− 17
21

= (4) 7
6
− 1

5
=

(5) 9
8
− 1

12
= (6) 7

6
− 7

12
=

(7) 7
12

− 9
16

= (8) 15
8
− 7

20
=

(9) 12
7
− 9

14
= (10) 11

6
− 13

18
=

� 13th-note �



� No.364-10-2 �

No.364-10-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 11
4

+ 9
8

=
31

8
(2) 13

8
+ 1

16
=

27

16

(3) 17
18

− 17
21

=
17

126
(4) 7

6
− 1

5
=

29

30

(5) 9
8
− 1

12
=

25

24
(6) 7

6
− 7

12
=

7

12

(7) 7
12

− 9
16

=
1

48
(8) 15

8
− 7

20
=

61

40

(9) 12
7
− 9

14
=

15

14
(10) 11

6
− 13

18
=

10

9

� 13th-note �



� No.364-10-3 �

No.364-10-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
6
− 5

12
= (2) 10

7
− 3

14
=

(3) 1
7
− 1

21
= (4) 5

12
+ 11

6
=

(5) 7
10

+ 11
15

= (6) 14
15

− 2
9

=

(7) 4
5
− 1

6
= (8) 9

5
+ 7

6
=

(9) 7
6

+ 5
12

= (10) 5
6

+ 5
12

=

� 13th-note �



� No.364-10-3 �

No.364-10-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
6
− 5

12
=

3

4
(2) 10

7
− 3

14
=

17

14

(3) 1
7
− 1

21
=

2

21
(4) 5

12
+ 11

6
=

9

4

(5) 7
10

+ 11
15

=
43

30
(6) 14

15
− 2

9
=

32

45

(7) 4
5
− 1

6
=

19

30
(8) 9

5
+ 7

6
=

89

30

(9) 7
6

+ 5
12

=
19

12
(10) 5

6
+ 5

12
=

5

4

� 13th-note �



� No.364-10-4 �

No.364-10-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9
16

+ 7
20

= (2) 5
14

− 1
7

=

(3) 11
8
− 9

16
= (4) 5

12
− 7

18
=

(5) 9
14

+ 9
7

= (6) 5
12

− 1
4

=

(7) 7
6
− 3

10
= (8) 3

4
+ 11

6
=

(9) 5
8

+ 9
4

= (10) 5
12

− 1
18

=

� 13th-note �



� No.364-10-4 �

No.364-10-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9
16

+ 7
20

=
73

80
(2) 5

14
− 1

7
=

3

14

(3) 11
8
− 9

16
=

13

16
(4) 5

12
− 7

18
=

1

36

(5) 9
14

+ 9
7

=
27

14
(6) 5

12
− 1

4
=

1

6

(7) 7
6
− 3

10
=

13

15
(8) 3

4
+ 11

6
=

31

12

(9) 5
8

+ 9
4

=
23

8
(10) 5

12
− 1

18
=

13

36

� 13th-note �



� No.364-10-5 �

No.364-10-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 11
12

+ 13
20

= (2) 13
8
− 3

20
=

(3) 13
14

+ 2
21

= (4) 11
12

− 7
8

=

(5) 5
12

+ 11
20

= (6) 15
8
− 5

16
=

(7) 1
12

+ 5
18

= (8) 7
5
− 3

7
=

(9) 9
5
− 3

10
= (10) 7

6
− 11

12
=

� 13th-note �



� No.364-10-5 �

No.364-10-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 11
12

+ 13
20

=
47

30
(2) 13

8
− 3

20
=

59

40

(3) 13
14

+ 2
21

=
43

42
(4) 11

12
− 7

8
=

1

24

(5) 5
12

+ 11
20

=
29

30
(6) 15

8
− 5

16
=

25

16

(7) 1
12

+ 5
18

=
13

36
(8) 7

5
− 3

7
=

34

35

(9) 9
5
− 3

10
=

3

2
(10) 7

6
− 11

12
=

1

4

� 13th-note �



� No.364-10-6 �

No.364-10-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9
10

− 11
20

= (2) 13
14

− 2
7

=

(3) 8
5

+ 7
15

= (4) 7
12

+ 5
8

=

(5) 17
18

− 5
6

= (6) 7
15

− 5
12

=

(7) 9
5
− 7

15
= (8) 3

10
+ 4

15
=

(9) 9
8
− 11

16
= (10) 3

16
+ 1

8
=

� 13th-note �



� No.364-10-6 �

No.364-10-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9
10

− 11
20

=
7

20
(2) 13

14
− 2

7
=

9

14

(3) 8
5

+ 7
15

=
31

15
(4) 7

12
+ 5

8
=

29

24

(5) 17
18

− 5
6

=
1

9
(6) 7

15
− 5

12
=

1

20

(7) 9
5
− 7

15
=

4

3
(8) 3

10
+ 4

15
=

17

30

(9) 9
8
− 11

16
=

7

16
(10) 3

16
+ 1

8
=

5

16

� 13th-note �



� No.364-10-7 �

No.364-10-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
16

− 1
12

= (2) 5
8

+ 13
20

=

(3) 9
7

+ 5
4

= (4) 9
7
− 1

14
=

(5) 5
14

− 1
10

= (6) 11
6
− 5

18
=

(7) 5
12

+ 3
8

= (8) 17
18

+ 11
12

=

(9) 12
7
− 8

21
= (10) 13

18
+ 11

12
=

� 13th-note �



� No.364-10-7 �

No.364-10-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
16

− 1
12

=
17

48
(2) 5

8
+ 13

20
=

51

40

(3) 9
7

+ 5
4

=
71

28
(4) 9

7
− 1

14
=

17

14

(5) 5
14

− 1
10

=
9

35
(6) 11

6
− 5

18
=

14

9

(7) 5
12

+ 3
8

=
19

24
(8) 17

18
+ 11

12
=

67

36

(9) 12
7
− 8

21
=

4

3
(10) 13

18
+ 11

12
=

59

36

� 13th-note �



� No.364-10-8 �

No.364-10-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 13
15

− 2
5

= (2) 11
6
− 1

8
=

(3) 1
10

+ 13
14

= (4) 15
16

− 1
12

=

(5) 1
21

+ 11
12

= (6) 3
20

+ 15
8

=

(7) 17
20

− 5
16

= (8) 5
6
− 1

8
=

(9) 11
20

+ 8
5

= (10) 1
14

+ 9
4

=

� 13th-note �



� No.364-10-8 �

No.364-10-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 13
15

− 2
5

=
7

15
(2) 11

6
− 1

8
=

41

24

(3) 1
10

+ 13
14

=
36

35
(4) 15

16
− 1

12
=

41

48

(5) 1
21

+ 11
12

=
27

28
(6) 3

20
+ 15

8
=

81

40

(7) 17
20

− 5
16

=
43

80
(8) 5

6
− 1

8
=

17

24

(9) 11
20

+ 8
5

=
43

20
(10) 1

14
+ 9

4
=

65

28

� 13th-note �



� No.364-10-9 �

No.364-10-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
10

− 2
15

= (2) 8
9
− 1

12
=

(3) 7
4
− 5

6
= (4) 7

20
− 1

12
=

(5) 11
12

− 1
18

= (6) 1
10

+ 9
14

=

(7) 15
8
− 5

14
= (8) 6

5
+ 8

7
=

(9) 5
6
− 9

14
= (10) 11

6
− 1

5
=

� 13th-note �



� No.364-10-9 �

No.364-10-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7
10

− 2
15

=
17

30
(2) 8

9
− 1

12
=

29

36

(3) 7
4
− 5

6
=

11

12
(4) 7

20
− 1

12
=

4

15

(5) 11
12

− 1
18

=
31

36
(6) 1

10
+ 9

14
=

26

35

(7) 15
8
− 5

14
=

85

56
(8) 6

5
+ 8

7
=

82

35

(9) 5
6
− 9

14
=

4

21
(10) 11

6
− 1

5
=

49

30

� 13th-note �



� No.364-10-10 �

No.364-10-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9
20

− 1
8

= (2) 7
12

+ 4
9

=

(3) 11
20

− 5
12

= (4) 4
5
− 1

10
=

(5) 9
14

+ 12
7

= (6) 9
14

+ 8
7

=

(7) 11
8

+ 5
12

= (8) 13
7

+ 7
4

=

(9) 7
8

+ 5
12

= (10) 11
7
− 5

21
=

� 13th-note �



� No.364-10-10 �

No.364-10-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9
20

− 1
8

=
13

40
(2) 7

12
+ 4

9
=

37

36

(3) 11
20

− 5
12

=
2

15
(4) 4

5
− 1

10
=

7

10

(5) 9
14

+ 12
7

=
33

14
(6) 9

14
+ 8

7
=

25

14

(7) 11
8

+ 5
12

=
43

24
(8) 13

7
+ 7

4
=

101

28

(9) 7
8

+ 5
12

=
31

24
(10) 11

7
− 5

21
=

4

3

� 13th-note �


